= ~ The regulator is shown in Fig.3. If Rz is 15Q, the unregulated input is
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. . the load current is 0A ? (20%)
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_ _ _ - v ~ The dc bias circuit shown in Fig.4 has Rs=200kQ, Rc=1kQ, and Vcc=15V.
— ~ In Figure 1, derive the relation between V1, V2 and Vout. (10?6) If RI=1 The transistor has B=100. Solve for Ic and Ves. (20%)
KQ, R2= 2KQ and R3=5K() and assume that V1=2V and V2=4V, what is the
output Vout? (10%) +Vc +Vee
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— = ' % ~Fig. 5. shows a low-pass filter with fc = 1 kHz and a gain of 10. If
| Fig. 1 o R=1KQ and Ri=1KQ, what are R: and C? (20%)
= ~ Suppose that the resistors R1=R2=10 KQ and R3=R4=100 KQ in Fig. 2.
Assume also that V1=2V and V2=4V, what is the output Vout? (20%) R,
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